k- 18iE

3) 5,470 EAAH < 2 e BEWE =16~23
N =T Y\ & —
35 5,400 35 E’fﬂo l"ﬁ'l’r‘ﬁﬁ;ﬁnﬁﬂ*&t 06
BE/ SR IL BB 2t=30 FREhT—H#Rt=0.35
900 900 900 ) 900 900 ) 900 X3/ L I%'fr?&l\o*)bt:ZO i‘%ﬁh?—ﬁlﬁﬁﬁt:&%
| | | | 7 MK ERt=12 + H7—A"=¥t=12(/10-)
@ 2 | FROE F7 759 ak7 FEE
! = TILSH v BlHEW
3 X BEE | FE2000
S O
17‘ ——
N
5§ g| o
CIRSI=
o N <
N
N — 2,980
o 105, 2,770 105
S
| {4 AR T SASRRL=0.6
DI | —
BiR AR a8l Rt=0.6
| FER si1/50 |
L .
30 5,470 30 j
r T - —
A BLE SASAARL=0.6
' ' X 3 B SR Lt=20
[e]
. o
| Y1 IEE S:1/50 |
105 2,770 105 1ﬁli
[ I =
I
BE : B A/ N3 )Lt=30
— /
[] y
o o IR : itk & #Rt=12 + h5—-AZ¥t=12(f10-)
S
| % # ® si1/20 |
| x2 I@EK S$:1/50 |
ETIESIE R B ALY IELWR X £ R wR HEES ENA&ERED

PH-D (1.5K x 3.0K)

FER- I ER-FEEE




